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#include <stdio.h> (localvar.c) [21]
void sub(int param); - _ _ 10
int main(voi X9 H==0| auto= dE7tS
auto int n = 10; ERTTTY 11
rintf("%d¥n", n); m, S“m'— Or o HlT=
printi(*7 ) I‘E.E':'—T— J 10
for intm =0, sum = 0;: m<3; m++) { 20 100
sum += m;
printf("Wt%d %dWn", m, sum);
b A e B= 15

printf("%d#n", n); —
//printf("%d %d¥n", m, sum)<——(m.sum &X =7t

sub(20);

return O;
} O 7 4 ==l param = IIJ
void sub(int param) { ol HZ=0 ZHO| Al

auto int local = 100;
printf("#Wt%d %d¥#n", param, local); //param2} local X 7t&
//printf("%dWn”, n); «— (S & x 2o
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[globalvar.c] [Z1H]
#include <stdio.h> Eﬁ: 108.19
double getArea(double); EHH: 36.88
double getCircum(double); =1f2: 36.86
doublw{ M= gie X742 FX| $ot= } Pl: 3.141592
int gi: A5 O 2 default value®l 00| M= | gi: 0

int main(void) { — —

double r = 5.87; /{ eqﬂ;l—qugé:ﬂ:ﬁolﬁgl }

const double PI = 3.141592;
printf("H&: %.2fWn", getArea(r));
printf("= &l 1: %.2f%n", 2 * PI*r);

printf("%aﬂz %.2fWn", getCirCUm(r))} =
printf("Pl: %fn", PI); ——( x|+ pl &x |: 5

printf("gi: %ed¥n”, gi); <

HAH gi 7|2 o

return O; X
} HMYHL P EHE [circumference.c]/
double getééa(double r) { extern double PI;
return r*r*pl: double getCircum(double r) {
) return 2 * r * Pl
1
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#define _CRT_SECURE_NO_WARNINGS I EL}x| ¢4

#include<stdio.h>

int count;

void fibonacci(int prev_number, int number);
int main(void) {

}

void fibonacci(int prev_number, int number) {

(fnbonacm.c)

auto int prev_number = 0, number = 1,

printf("CZ|ELIXE S 7| SR 2(3 olg >>"):
scanf("%d", &count);«{ TYEHSE EFEUHo=Z HF
if (count <= 2) 2 1}

return O; OELIERE H 7 271223 0|4 >> 10
printf("1 "); 1123581321 3455
filbonacci(prev_number, number);
printf("Wn");

staticinti =1, ~— ™™ x99 #Hx
while (i++ < count) {
int next_num = prev_number + number;
prev_number = number;
number = next_ num;
printf("%d ", next_num);
filbonacci(prev_number, number);
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H 471X] 7|82 R (storage class)

7R atEE|= H2e] HA, MM/HH A7, 5 He7I ZHE

auto

o QlHI x| 0| EZl, MEF 7=,
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o XMoo 0| 7. 2 H22]| Q0] Ol cpu LR HI22| g X]
2 E0] &l -> == i E.

o FAJlgen=E & A1AK} AlE S71.
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(registervar.c)

#define CRT_SECURE_NO_WARNINGS
#include <stdio.h>

int main(void) { /[ A AH X[GH A A ]
register int sum = O;
Int max;

printf("&e| = ™ 5> ),
scanf("%d", &max); , —— EIX2H S5 X A8 O

ol

for (register int count = 1; count <= max; count++)
sum += count;

printf("2}: %d¥n", sum);

return O;
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(statlclocal.c)

#include <stdio.h>
void increment(void); //&+-& ¥
int main(void) {
for (int count = 0; count < 3; count++)

iIncrement();
A d S =

void increment(void) { MM XA ]
static int sindex = 1;
auto int aindex = 1;

I

printf(""d A X|HBH== sindex: %2d,Wt", sindex++);
printf("AtEs X|DH= aindex: %2dWn", aindex++);
} [Z 1
X X|YH= sindex: 1, Ats X SH= aindex: 1
X X|YH= sindex: 2, Ats X SH= aindex: 1
A X|H#H2= sindex: 3, Ats X SH= aindex: 1
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(statlcgvar.c)

#include <stdio.hr>

3N Hous |

static int svar;

Int gvar, \r

void increment(); -

void testglobal();
//void teststatic();

int main(void) {

vare Ct2 OO0 A extern MASIO A Tts.
svar2 CH2 WA A extern MBI Al E7tHS.

[4 1]
2t increment()/t & 58 @ =E[/JASL
U H=110

for (int count = 1; count <= 5; count++)

iIncrement();

printf("& == increment()7t & %dH =& A S LICHWN", svar);

testglobal();

printf("A < = %dWn", gvar);

//teststatic();
}

void increment() { svar++; }
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#include <stdio.h> mﬂm

void infunction(void); [out.c]

void outfunction(void); - —— | #include <stdio.h>

int global = 10; 9"2_53' : 2FUM ) void outfunction() {

static int sglobal = 20; ME 7ts. extern int global;

sglobal : 2| £0] e o

| | | AR 271 printf("WtWt%dWn", ++global);

int main(void) { - <1
auto int x = 100;
printf("%d, %d, %dW#n", global, sglobal, x); BNl
infunction(); outfunction(); 10, 20, 100
infunction(); outfunction(); 11,21, 1, 1
infunction(); outfunction(); 12
printf("%d, %d, %dW#n", global, sglobal, x); 13,22, 1,2
return O; 14

} o | | 15, 23, 1, 3

void infunction(void) {¢.""no = =7|ai 16
auto intfa =1, | yys=Al0) = Zto| SXIE. 16, 23, 100

static int fs;
printf("Wt%d, %d, %d, %dWn", ++global, ++sglobal, fa, ++fs);
}
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#define _CRT_SECURE_NO_WARNINGS

#include <stdio.h>
#include <stdlib.h>
#include <time.h>

int number ;
static int min = 1, max = 100,

void setNumber() {
srand(time(NULL));
number = (rand() % 100) + 1;
}
void printHeader() {
printf("1~100 Atole| M7t ZH=JUSHCHIN");
printf("o] MF+E UFEMR? > ");
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void printHigher(int num) {

printf("ME2 st A+ yd2ct L. Wn” num) ;

printf("%d~%d AtO|e] M+E A=HSIM. > " min, max);
}
void printLower(int num) {

prmtﬂ”ﬁﬁﬁfc”aé_é, A2 CH 2SS CEH.Wn", num);

printf("%d~%d Ato|e| =5 QEStM. > " min, max);
}
void printAnswer(int num) {

printf("Sstetct. dEH2 %d U CH#n", num);
}




